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Figure3:example 1 of mesh analysis
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Case 2:

Current source exists between two meshes, a Super mesh is obtained m
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Node or mesh: How to choose?
» Use the one with fewer equations, \ S l | de, ii

7 Use the method vou like best.
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Two sources are equivalent, if each produces identical current and

identical voltage i any load which 1s placed across its terminal.
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* The two circuits depicted in Fig. 4.39(a) are equivalent with respect to
terminals a,b because they produce the same voltage and current in any
resistor RL mserted between nodes a,b.

* The same can be said for the circuits in Fig. 4.39(b).
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Example: Find Vo using source transformation
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Dependent sources
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T h e S u pe rp 0S | tl on T h eorem Steps to apply superposition principle

# Turn off all independent sources except one source. Find the output
In a linear network, the voltage across or the current through any (voltage or current) due to that source using nodal, mesh....

element may be calculated by adding algebraically all the individual
voltages or currents caused by the separate independent sources 7 Repeat step 1 for each of-the other independent sources.

acting alone, 1.¢. with: - o . A o
L » Find the total contribution by adding algebraically all contributions
9 1) All other independent voltage sources replaced by short circuits. due to each independent sources.
2) 2) All other independent current sources replaced by open circuits.
A sdeimpleiapinbima

D » Dependent sources are left intact because they are controlled by

circuit vartables. i / >
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Use superpositionto solve for 7x
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Example: Find Vo using thevenin’s equivalent circuit
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Find I, using Thevenin’s theorem P\ ﬁ"
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